cafe.naver.com/realcom?

2|¥A 02-3424-7811

dTE, B4E, FHEA, GOIERY, PC4E o NAVER

<
1 HILOE 75 A-034
37_1‘1&31:5! o ) Zo]LH o BB Al 9L = (zolQule] Z=7}A - —
(2 A$BUl1EgZE) ® 7R 29 RS (TP F7HA) 672—-10-00779
° (PC%?Q? vlolH 713 71 Al 2:d 7k 2| o 2 ;Jxlm X
A s (010) 9976-8617 A F2AD) RSN Ba BUsERE e
- "5 = =
AH A} 2024 19 249 29 TE Ak EUHBEJ °§.A%ao=? % -
x x —
AlYg A=z E d 0-1
Fa
ZRE T ¥ E 3 =€ &
QI 0fi5-12MCH 12400F 62011242 E CPU #195,000 1 #195,000
1. EPC 79 = 21 0|t BAO 2 A/SE A|BS} CR-1000 EVO AUTO RGB (BLACK) CPUEY ¥25,000 1 #25,000
O 24 0|20 Ydlst= 2lH= 2L | 24 A
2 flexde gLt MSI PRO H610M-E DDR4 M/B ¥98,000 1 ¥98,000
i s S s R 71EY 8x2=16G8 FLYATH RAM w0 w0
3. M ABOI$O2 QB HHOj2A LY U s/W
EML MK, S 2| H 400 2T A/SE TALZE 7| & GTX1660TI AHE VGA #0 #0
THES A/S 7|—,—01| O|Hst0f FHEZF 7|2z Fd
HPgLct 7|E AEEVO EFOILIH EXZUHoE &HE SSD #0 #0
WD Blue SN580 M.2 NVMe (500GB) 7] &
4. HDDO| MEE DATAE BEE|X YaLich 523 g ;fﬁ o wale (= © 231 7] SSD w62,000 | 1 #62,000
DATAE &4 BACKUPS &2A|7| HHEfL|CE
/ HDD #0
5 1AM =28 S/W SHE 27 StA = A2 NHE
H 20| HEFLUCH
7|EAH 0|~ CASE #0 #0
6. TR HE S/WE AHE & A0|, 28X 2=
2HE s/W 7 ZEHE|X| 2SS &olstH, 0|=0fat 7| EL R MEEL0| POWER #0 #0
T 2010 AH8stE A|AEU0 2E 28 5X S/W
off Chat ot st A0t Dl/sAMA AKje| moje | HFH M H Ao|x 22 HH X E HE w0 w0
Zosh =olofA Uge Folgt EpE—— —
27 24 A/S, PC HEZE 9 Z2Bot MHE| S YH| #80,000 1 #80,000
A= L(OS)H E2tO|HHX|, ZF A MH|A | 21=2(0S) )
2| YA It 7t RHEE AKX 2 FHMH[A FIbMHIA WO
R ES w0
XMoot Zolub T ME|SIH S| C} #460,000 1
* IS SaEd SN0 ol BHx M St VATHE
o] ma|ghRl Z=T1A000 =H 748 2 #460,000 =
™—= O, —|E| |'|_, SLTo |
R2%E %% s T ES e e
7| i5 9400F + 7| & O E Snukoy ek 60,000 -1 (#60,000)
café.naver.com/realcom7  U|O|H{ 7| w0
1. 7t 7t 4 2 s FA{0F /AKX 20|
b=t o )
2. FYURI|E HAHFAM L. )
A0 &9 L ALEE K| "o
Zele O|HIEES TledshL|Ct
X &IMRIL Hof gHEE|d =80 oL w0
CHESEM Q! W0
It A MEd LSt (#60,000) VATEE
SIAN T 2N FALSE SHA| ¥400,000 VATEHE
JlEANE FALSE BILA| ¥40,000
T ES T AR [oH X HIFLS vaTEY
M =3
Z 4 i I il
HpIoH 440,000 VATZ S
X M A MM HEAZL
At %%' (Ol 25 27

10-482-539938

=

k=




